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1. (8pts) Evaluate without using the calculator:
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2. (4pts) Use your caleulator to find II’
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Show how you obtained your number. %o )

3. (1lpts) Write as a sum and/or difference of logarithms. Express powers as factors.

Simplify if possible. ?
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5. (3pts) Find the domain of f(z) = log;-(7 — 3z).
Mt beve 75020 X
s S [

2
RS
9

L~

)

6. (12pts) Solve the equations.
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7. (8pts) If you invest $2,000 in an account bearing 3%, compounded monthly, how long
will it take until there is $3,000 in the account?




